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Quiz Date: 18th June 2020 

Directions (1-5): Study the information carefully and answer the questions given below. 
Six persons are sitting around a triangular table, in such a way three persons are sitting three 
corners facing outside while three are sitting at middle of the side facing inside. Each of them 
celebrates their birthday on different date 21 to 26 of the same month of the sane year.  A 
sits second to the left of C who is younger than A. Only two persons are sitting between N 
and B. O is older than B. N is 2days younger than O. M sits second to the right of N. B is not 
an immediate neighbour of A. Youngest person sits at the middle of the side. B is younger 
than N but not youngest person. A celebrate his birthday on an odd number date but not on 
prime number date. Age difference between M and C is 4 days. 
 
Q1. Who among the following celebrate his birthday on 22nd? 
(a) C 
(b) O 
(c) M 
(d) N 
(e) None of these 
 
Q2. Who among the following person sits second to the right of C? 
(a) B 
(b) O 
(c) M 
(d) A 
(e) None of these 
 
Q3. How many persons sit between N and M, when counted left of M? 
(a) More than three 
(b) Two 
(c) Three 
(d) One 
(e) None  
 
Q4. Who among the following is oldest person? 
(a) B 
(b) O 
(c) M 
(d) A 
(e) None of these 
 
Q5. Who among the following sits third to the right of the second youngest person? 
(a) N 
(b) C 
(c) B 
(d) O 
(e) None of these 
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Directions (6-10): Read the following information carefully and answer the questions given 
below. 
A number arrangement machine when given an input line of numbers, rearranges them 
following a particular rule in each step. The following is an illustration of input and 
rearrangement. 

 
Step IV is the last step of the above arrangement as the intended arrangement is obtained. 
As per the rules followed in the given steps find out the appropriate steps for the given 
input:  
 
Input: 11 48 83 36 45 64 27 52 
 
Q6. Which of the following will be Step III for the above input? 
(a) 13 4 22 0 21 3 22 
(b) 13 4 22 0 22 3 21 
(c) 13 4 22 1 21 3 21 
(d) 13 4 22 0 21 3 21 
(e) None of these 
 
Q7. Which of the following is 2nd from the left end in last step? 
(a) 1.5 
(b) 0 
(c)  2                                  
(d) 6.5          
(e) None of these 
 
Q8.What is the sum of the numbers which is 3rd from the right in step 1 and 2nd from the 
left in last step? 
(a) 194 
(b) 34 
(c)  267                                
(d) 65          
(e) None of these 
 
Q9 What is the difference between the numbers which is 3rd from the right in step 3 and 2nd 
from the left in step 2? 
(a) 9 
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(b) 4 
(c) 12                                
(d) 6          
(e) None of these 
 
Q10.How many numbers are exactly divisible by 3 in step 1? 
(a) Two  
(b) Four   
(c) Five                               
(d) Six              
(e) None of these 
 
Directions (11-12): In each question below is given a statement followed by two 
assumptions numbered I and II. An assumption is something supposed or taken for 
granted. You have to consider the statement and the following assumptions and decide 
which of the assumptions is implicit in the statement.   
Give answer  
(a) If only assumption I is implicit 
(b) If only assumption II is implicit  
(c) If either I or II is implicit 
(d) If neither I nor II is implicit 
(e) If both I and II are implicit 
 
Q11. Statements: “If you ask me about the daunting challenges that I face, I would say that 
my government’s first priority is to improve the existing law and order situation. Then 
follows the issue of prices of commodities.” ___ Mr. ROY, a newly appointed PM of country 
CLINTON 
Assumptions: 
I.  If a citizen of country CLINTON can sleep peacefully, he/she can then think of providing 
food to his/her family, ponder over education and move about freely in the country. 
II. Prices of the commodities affect the common man greatly. 
 
Q12. Statements: “If you have any unresolved consumer disputes, do not feel that you are 
helpless, do not hesitate to assert your rights. Approach the District Consumer Forum for 
speedy redressal.” ____ Department of Consumer Affairs 
Assumptions: 
I.  People don’t want to approach consumer forum due to the red-tapism in procedure 
adopted by the forum.   
II. Speedy redressal will attract more unresolved consumer disputes.  
 
 
Direction (13-14): Study the following information carefully and answer the given 
questions. 
Seven boxes are placed in a stack one above another. More than three boxes are placed 
between G and F. Only two boxes are placed between E and B, which placed just below G. 
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More than three boxes are placed below D. Box C placed above box F. Box E does not placed 
below box C. Box A placed below box D. 
 
Q13. How many boxes are places below box D? 
(a) One 
(b) Three 
(c) Two 
(d) More than Three 
(e) None 
 
Q14. Which of the following Box is placed just below box E? 
(a) C 
(b) A 
(c) B 
(d) F 
(e) None of these 
 
Q15. If we form the word by 1st, 4th and 7th letter of ‘RAINBOW’ and 1st and 4th letter of 
‘COLOUR’ then, what will be the 3rd letter from right? 
(a) C 
(b) O 
(c) W 
(d) N 
(e) None of these 

 

Solutions 

Solutions (1-5): 
Sol. 
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S1. Ans.(c) 
S2. Ans.(a) 
S3. Ans.(d) 
S4. Ans.(b) 
S5. Ans.(d) 
 
Solutions (6-10):  
Sol. Word and numbers rearrange alternately from left to write. 
In step 1- the odd numbers are multiplied by 2 and the even numbers are multiplied by 3. 
In Step2- all the digits of the numbers are added. 
In Step3-the numbers are alternatively added and subtracted with the next number. 
In Step4- the numbers are divided by 2.  

 
S6. Ans (d)  
S7. Ans (c) 
S8. Ans (a) 
S9. Ans (c) 
S10. Ans (d)  
 
Solution (11-12): 
S11.Ans.(d)  
Sol. I is not implicit. II is not implicit because the PM only assumes that law and order 
affects the common man more than prices do. 
S12.Ans.(b)  
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Sol. Assumption II is implicit. 
 
Solution (13-14): 
Sol. 

BOXES 

    G 

    B 

    D 

    A 

    E 

    C 

    F 

 
S13. Ans.(d) 
S14. Ans.(a) 
 
S15. Ans.(b) 
Sol. CROWN 
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